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[Time: 2% Hours] __ ['_Mé._rks: 75

Please check whether you have got the right questaon paper
N.B: 1) All questions are compulsory subject to lnternal,chmcé
2) Figures to right indicate full marks.

Q.1 Attempt any two questions:- SIS
a. Define Project Management and explain its character:stlcs
‘b. Explain different forms of organization..” = = -~ . (o)
c. ABC company Ltd. Is consndenng the foliowmg two mvestment proposais v

.a..

inflows are tabulated below:~ - J Sy
Rank these projects in order of thelr profltablhty accordmg to the net present
value method. AT PRI ; 5

Assume that firms cost of g@piltaj__gs 15% - S

TS

Year | Project A(Z) | ProjectB( PVofRe 1 @ 15% |
1 : 2,00,000. |- - 10,00,000 ] - - 0.870
2 6,00, 000 | 2 43,00,000.1 2 57 1 0:7560
3 9,00,000- |~ °17,00,000 |- © - -0:658
4 © 13,00,000 "10‘0’0 000 | 50572
5 ..*_5119,00,'000_ \\\\\ ".7,00,000 20,497

Q.2 Attemptany two questions:- < TS A 15

a. Explain‘the scope of. pro;ect feasubllity
o b. Write a note on Market Analysis. - 3
Explam Production Plannmg and control in operational Analysis.

_&-:-\

Q3 Attemptanytwo.questlons- : \\ : 15

. "\..,v i

W B Calculate‘operétmgTev’erage f:nanual leverage and combmed leverage.

' ‘b ' Partlculars SR e, S Y
v« | Salesei § 848 218106,000 5,00,000
‘| Variable cost = - 6,00,000 1,00,000
Fixed:cost- & b 8 72,000 15,000
Interest = 40,000 20,000
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¢. XYZLtd. Proposes to take over ABC Ltd. Goodwill may be taken at 1, 92 ,000 for

XYZ Ltd. and 76,000 for ABC Ltd. the stock of XYZ Ltd..and ABC Ltd to be’ taken
at ¥ 4,08,000 and 2,84,000 respectively. S, BN S

e _\‘

Their financial position as on 315 December, 2016 were:= =

| Liabilities XYZLltd. | ABCLtd. | . Assets | XyzZltd, ABC Ltd.
Equity share 10,00,000 | 4,00,000 | - Fixed | 8,00,000 |2,00,000
capital (T 10) G R Assete 1 LV g
General Reserve 4,00,000 40,000 '”’fh'\{res"tmen"t 200,000 | - -
Profit & Loss 2,00,000 | 60,000 | - - Stock | 4,00,000 | 2,60,000
Creditors 2,00,000 | 1,00, ooo“' - Debtors | 3,40,000 | 1,20,000
PEITE cas‘h&Bank 60,000 | 20,000
[ 13,00,0;_10 ;‘:5,'0'0,00‘0 X T A8 00,000 ﬁﬁ,ﬂd,ooo

Calculate the Net Asset Value per share and fmd out the exchange ratio
Attempt any two questions, = o oo
a. Explain in detail Pro;ect Management Matunty model
b. Writea note on prwect momIprmg and controITlng
c. How to rewew a pircuect "V e (LY, S

Solve the following case:- =~ = oo _
Darshan Ltd.is furmshmg you the foliowmg mformatlon -
Proposed set up at Nashik. oo Vs
" Taxratelis @35% <o U
Expected ROI @ 25% LR

s

e
S

Term Joan Requured ?‘4000 Lakhs

Interest rate @ 10% - .

.:“"Tenure of loan=8: years repayable with installment at the end of each year
: .Prmmpfe Amounth payablem equal installment of <500 Lakhs each year.
vTax hohday for f“rst 5 years '

; 5 N .'{,
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The cost of the proposed project and the means of finance\_a:\-_ré;;as follows:-

E

Proposed Project Z (in Lakhs)
Cost of Project:-
Plant and Machinery 3,000
factory Building : “} ,000..
Working capital 400
4,800
Means of Finance =
Additional Equity share capital : %300
Retained Earnings &9 ¥, 2 00 gk
Term Loan EVINE 2 4000 |
"R 4,400

o

Finance manager of the financial institution has requested you'to:=

a) Prepare Loan Amortization schedule - .~
b) Evaluate the profitability for 5years. .~
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